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Do not open this Test Booklet until you are asked to do so.
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uiterT, 2015 (Examination, 2015)
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Time Allowed : One Hour Thirty Minutes Maximum Marks : 100

gt Ui & SHF FEH |
All questions carry equal marks.
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Write your Roll Number only in the box prov1dcd alongside. Do not write anything
else on the Test Booklet.

2. it e A 100 9 ¥ | YA WA F IR g IR fawew e e E | FEaa o
- wel /3 It & g |

This Test Booklet contains 100 questions. Each questlon comprises four responses
(answers). Choose only one right answer.

3, amﬂ@mgﬁmﬁmmﬁ%ﬁ%mﬁﬁqﬁ%ﬁqmmﬁﬁﬁﬁam
It ik 3R 3rferer TEl 2 | 38 =T oW & 39 9vf & el /99 # e 1t i
e 9 % P 8 g @@ @ el w2 | Fefeiaa seem d v (O R 39 aw
ﬁﬁ'ﬂl’-fﬂ"ﬂ%:

After the candidate has read each item in the Test Booklet and decided which of
the given options is correct or the best, he has to mark the circle containing the
letter of the selected response by blackemng it completely with Black or Blue ball
pen. In the following example, response ‘C’ is so marked :
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4. o w0 8 e F oy R, 99 @ W @ g vy et FY A TR S
waﬁﬁmmwwmﬁmmﬁﬁwaﬁﬂ@ﬁhﬁﬁwﬁﬁﬁm
A T2 % ey ge/miet ol w9 A F I AR, S e oft w0 I
e @ ey |
Do the encoding carefully as given in the illustration. While encodmg your

particulars or marking the answers on Answer Sheet, you should blacken the circle
corresponding to the choice in full and no part of the circle should be left unfilled.

5. 379 TR gl o T sheret STToeR! St @ € 18 I dtforeh/HE o€ I E |

You have to mark all ynur responses ONLY on the Answer Sheet separately given
to you. . “

T

6. IS it TehTTen 37 T 2 |
There will be no negative marking.

7. TR Teat fF a9 I aniere § weged & PR oA ¥ R v |, 3w Ao
T dTet w1 3 3194 faeqa faaor &t Fdemgan v |

Before you proceed to mark responses in the Answer Sheet, fill in the particulars
in'the front portion of the Answer Sheet as per the instructions.

8. ITRER 3 HR F et W F o, ARV FB R A |

Last blank pages are meant for rough work, if any.

\
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Section-I
ENGLISH

Q. No. 1 to 3 : Choose the correct article from the option given below.

1. I heard noise.

A. the oo Beta

C. an D. none of these
2. He is heir to the throne, -

A. a . : B. the

/V an D. none of these

3. This is just thing I wanted.

Xt the B. a

C. an D. none of these

Q. No. 4 to 8 : Fill in the blanks with appropriate words.

4,  We eat that we live. |
A. might ; B could

Py

C. would - D may
5. Thcre-is hope of his recovery.
A, little = B. alittle
C. thelittle : D. none of these
6.  Hariis the boy in the class.
A. lazy ' B. lazier
C-"laziest o D. none of these
7. A policeman rescued thechild _ danger. |
A~ from B. to
C. into D. on
8. He to play cricket before his Iﬁarri_age.
- used B. isused
C. wasused D. had used
[P.T.O.
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Q. No. 9 to 10 : Fill in the blanks with appropriate preposition,

9. He is married  my cousin.
A. with S : s
C. from : D. in
10. We should rely our own efforts.
- on _ B. at
C. with D. in

Q. No. 11 to 12 : Fill in the blanks with appropriate verb from the options given

below.

11. The earth round the Sun.
A. move B. was moving
C. moves D. moved

12. _.We English for five years.
A. study : B. are studying
C. was studying ~have been studying

Q. No. 13 to 14: Complete the proverb by choosing the correct option.

13.  All that glitters
" A. isnotiron B. is not silver

/6./ is not gold ~°_D. isnotcopper

" 14.  Itis never too late.

AT to defy
C. todeny

B. tomend
'D. todisobey

Q.No.15t0 17 : Choose the word which is spclt correctly.

15. A. f hdea . | - B. - Diarhoea

/C./ﬁ?:rrhoea D. Diarheoa

6. A Adiction | B. Adicsion

i C. Addiktion D./énddiction
4

" RDPSI5
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17. A. Confidencial B. Confedencial
_C~Confidential D. Confidental

Q. No. 18 to 19 : Choose the word which is opposite in meaning to the word given

below.

18.  Flexible

& Tigid | B. soft

C. mellow D. raw
19.  Exit
A. ening B. withdrawal
ﬁtmnce D. inhaling
Q. No. 20 to 21 : Choose the word which is similar in meaning to the Iword given
below.
20. Confess
< Admit s B. Deny

C. Refuse D. Impede

21. Sufficient
A. Deficient . I~EE Bnough

C. Inadequate D. Embarrassing

Q. No. 22 to 23 : Join the sentence by adding the option given below.

22.  She must weep. She will die.
A. and B. but:
or o D. so

23. I know the man. Stole the bicycle.
"A. which —~B. who

C. whom - 'D.  what

RDPS15 5
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Q. No. 24 to 25 : Choose the correct meaning of the following idioms from the option

given below.

24.  The ups and downs
'A. The happy times : B. The sad times
g e happy and sad times D. The ecstatic moments

'25.  To move heaven and earth |
A. tobring disaster B. to cause calamity
- to try everything possible  D. to cry and shout
Section-II
- HINDI

26. ‘% aviI=mOmAIgEAEIR?
A. B - /‘qﬁﬂz{q
C. &g : D. 9
27. &= aoiaren # =St 6 we 2
A 32 B. 34

C. 36 - P37
8w A 7

’/A./ﬁ | B. fan

C. wHUE D. 3rertaE
29, = 2 o fenedi # & ‘qeEH’ wTeg T WA hIfNIY
¢ ) ‘ 3
A. B3 B. Wl
c. fEmr D. Hin
0. ‘gowr wER-RESI AR
A, T +SH . B4 + S
C. G5 +4 - D. 9+%H
RDPS15 _ 6
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s 31 32 £ A1 e a6 o v g 2, 7R iR

31, WA T % g e i sfe Al
A. xB. c. B

32, wERR = IERA oEE S @ A A
A. .}/ c. D. .

33, freffe § 99 orEd =R 7

A. qodiRE B. AATTRH
. C. giEmeud D. R S5 STET
3. g wEr T8 A wiE el wh o’ § waeh’ s e @
A. S - B S
C. Ye¥egd™ -~ D. @SR
- mssass:ﬁ%ﬁqmaﬁﬁﬁ%@ﬁﬁmﬁﬁaﬁ%%gaﬂ-ﬂﬂﬁmmw%,_
- YRRy i |
35; R S Iefeae wet el ot
, C. 3= - D. 3Iad
K_- .
36. W A gaid § forvamd d @
A. SHQIfEER B i

C. SHAE D. SHat
37. FIRWAEEYEe?

Mﬁ!ﬁﬁmww%? B. T; e gt g B!
C. dF, fhang=tg@e!  D. ! RhangeigmEe!
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“wrerarer’ o wH g e g ?

/a/{gmznaas | B. WEIENH
- D. grEqH®

39. “mﬁwﬁmﬁaﬁwﬁ#@”aﬂwwm%?

A. GIH A B. W A

& P  D. IugmaE
e 40 & 42 : Prefead we # weiE gera ¥ forg =R ey iy E, 3 @ wh ST -

Tershed &1 =@ hiferg |
40. °fa ¥ s EAT

A. gHETRM B. T M R T

C. W@ deE D. ®EH M |
41. et id

A. TE B. et geiment

g T ERaeiayg 0 D. FEABRAE

42. G R @ AT
_ TeTTeh &1 T hl WTST THErdl &
B. foegpe srfag g
C. TG IEgT 1 Bl T3
D. e @A Sl o GHSHT
43. o’ 1 Tl wsE X
A. giar L B. T
C. D. frgifwoft

4. g e e |
Mﬁ? | B.

C. ¥ D. WS -
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45. Gd fehew giiw - e A gL
A. gash - B. g
¢ E’ﬁ? D, g

m::sﬁso ﬁm%f@aamﬁﬁ@wﬁ%wuﬁ%%qﬁﬁﬁmﬂﬂmﬁﬁ
ﬁmmwﬁql

46. ﬁmaﬁa‘taﬂm—wm R a2 |
/A/(ﬂfrw : B. ufomH
C. i D, ufeE
47. _ﬁﬂaﬁ_wﬁﬁﬁqﬁﬁu‘i T BT |
A, 3t i
48. w3 R AR e
N Ah' IqsHdl B ,{{/’ﬁ?maaﬁn
C. vfesar | - D T
49;  ATETALH - i gTaTET PR e 2 |
ng,/mqan»
B. WwdlER
c. fmmr
D. 3R |
L—————— Y
A. T |
B. @id -
e affaw
D. IEECTSI
RDPSIS 9
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Section-111
MATIIEMATICS

51, freferfaa we | geaTae (7) S T TR T AT ?
4+4.44+ 44.4+4.04+ 444 =7

A 500.88 B. - 572.22
C. 49522 D. 47288

In the following question what comes in the figure (7)
44+444+444+4.04+444="

A. 500.88 - ' B. 572.22
. C. 49522 . D. 47288
52. i,éamﬁwwwa‘
16’12 - 8 |
= | B —
- 48 : 48
C. B " D. 7
8 - 16

= . 5 )
The highest common factor (HCF) of ;6-,% and 3 is

s - 7 B
y 48 . " 48
75 . 75
. | : D. —
C.. 8 16
- 3 A3 a3 o3 -3/2 .t
3. (P+2°+3 +4) AR /
A. 0.0l o - B, 0.001
c. 0010 ! D. 0.10
' . =372
The value of (13 +23437+ 43) will be
A. 0.01. B. 0(;001 :
C. 0.010 5\ D. 010
|48 g‘ifjl-«éﬂ R
g ) v Z"j'
RDPS15 06 10 -
| / | roXto

| v |
&)I°) rz,@

— g iy

16 1F .
Y 2,2
- ah! |

)
2 &
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=

T
L52) -
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@2)3&
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54, AR 92 =275 {@ x* FAFR - Y= | s»t3
| =A%
. 4 = g 2
2 9
h 1 - 1
g = e
. = N :
If 9%*2 = 275** then ‘x’ is equalto
A+ B, 2
- 2 9
1 1
3 S D. — L
6 9 64) .
o )2,\‘*
' - q
55.  (a—b)* TR R b
Al at -t B.__a*—b"—2ab (’@
C. az}bz—Zab D. a*>-b*+2ab -

: (d_b)% is ‘equal to
PPV Al o2 —p? B. a*-b"-2ab '
}/a2_+bz—2ab D. a®-b*+2ab. > qi8)

56. AT (7) % T W S | AR5 .
(21.69)° —324=(?) | -_ W\ L .
A. - 4404615 - B. . 425.4561 it
C.| 452561 D. 442.4651 | Yy,
What comes in figure () : : g\l:;i*{
(21.69)> —/324 =(?) y\ﬁ,'bo\i\s
A. 440.4615 - - B. 425.4561 & %
e 4524561 D. 4424651 | “ﬂ
57. 2 Feft 1Y o1 ST ST SEhe SIS §, A gt B ® /[lﬁh'l-:ﬁtfﬁfg .
A 29fE C B3R
vy of ' ' _:.-;.-' ., ,1."—.’]’1-
c. 47fE 'D. THIHE T
.. If volume and surface area ofa s.'i:)herc is same, then its radius is :
A" 2'units ~ 3 units ' Vi i
r ‘_ C. 4umts 3§ . 'D. noneofthese
'RDPSIS 'l 1T A [P.T.O.
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. /r?/‘;
58.. Hﬁﬁﬁ%%ﬂwaﬁaﬁaaﬁm@wm% At 37 ufdi % sfer ot eTgum @ A’ \‘-”
SCA 9 B. /51 5 8 \\$
‘ 2T
C. 34 ' D. 13 W N#D
If the ratio of the areas of two squares is 9:1, the ratio of their perimeters isL %\({
A 91 5 Aol
C. 34 D. 13 g

59. o AT quTleRt T AT 1350 R | AR B o T W Wil ANy Q=D

[ﬁ{( 900 B. 950

9735 D. 990
; _The sum of three consecutive integers is 1350. The sum of the smallest and the

'blgg_e;st integer is wa
A. 900 - B. 950 — ]
W 4y

C. 975 D. 990

R H}:\&‘SG :
s . '-: = 1g“q
490, %ﬁwaﬂ%=17%,wmaﬂ4s%wm? = uu g
B T 4 s | B. 454 : "WL’Q
C. 374 D. 306 el
s STl of any number is 17, then 45% of that number is JM =1+
| A. 51 3 ;}5-4 9 L 1?7&4
_ 306 =
Lt.f} : C 374 /)%,;0}/ ,-_L&...&p -4

. /QEH»‘RT&'FI"I35%@@45%@3@%%3%@@69%@@75
ol 4 ﬁqzﬁtgﬁa;&ﬁ%lm?ﬁaﬁmnﬁrw%?

. 42 feft /even /ﬁm/w

ﬂf C. 52 et /g - D. 60 fepdt/Hv

,} . A car covered first 35 kms in 45 minutes and covered rest of 69 kms in 75
/ mmutes What is the average speed of car 7

?bﬂ | A 42 km/hour _ B. 50 km/hour _:@_ =
/\»ﬁ C. 52 km/hour 1!‘1 D. - 60 km/hour 3

750 | apmon 2 | & m«
| //JM fﬂ@g\wx\wa%% ‘7_
RD ?j‘i/ g+3 2 e /‘/

o LR i e By
- ﬁ’%’r 1]/{‘5

2 X
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LA
'ﬁﬁom 6 5 : ' A4 ﬁ[f-#ll
#E . ) 57, S
A
‘ freft e foslt <t ey 1 S aqgcrmmsan‘%waﬁ%mmmm\
' ST 11:18 B ST | 371 311 & FrerT 37w 211 7 = IR
A. 2494 B. 2074 l??t‘}‘lﬂ?;HA,Lf')H"‘l?
C. 33ad D. 219% 1811?6—5 Lans:
The ages of Nishi and Vinee are in the ratio of 8:15 years r'espectively. After9
years the ratio of their ages will be 11:18. The difference in their ages will be T%’ ,._‘f,‘g
A. 24 years B. 20 years ’#—‘g—(ﬁi
C. 33 years /D%ars (2= A0

63.  x*—8=0 I T FA W T 37T 3
A x=2Fx=-2 B. x=2 x=—2 "
C. x=22w x=—2y7 D. wHasdw @9
On sc_;lvin_g’_ x* -8=0,we get - @

A. xz=2orx=-2 B. x='2 orx=—2 L 21

x:2\5 or x=—2xE D. None of these

| AN o500t N
64. . .10 3 20 T AGU FHFTE & | e
A 10 B." 20 _ %?’6
c. 30 D 4o
Tthd proportlon of 10 and 20 is
AL 100 B. 20
ric.- 30 D. 40
65. s e 3 949% el urd gu 37 114 %ol §C I et fohe ferameff e A 943 7
3T AL 1160 B. 1600
To 1 Ga 1900 - ~ D. 2400
In- an examination 94% of the candidates passed and 114 failed. How many
candidates appeared in the examination? ' e 19
A 1160 'B. 1600 QY w en
St T B% yveo
, ;%;ﬁo D, 2400 .
" . Y i = _
RDPS15 137 ¢ . "~ [P.T..
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——————

| xxg
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66, 2,000 %. T 6% A 18 TEH F WL SATS AT EI ?

A. 120%. B. 180%.
3o 216%. D. 240%.
How much simple interest will Rs. 2,000 garn in 18 months at 6% per annum?
A. Rs.120 }a»/Rsa 180
C. Rs.216 'D. Rs. 240

. 67.  SEFAT. 35,645 5 WieA § @ A, 7. 24,355 H Al @lier 5 gQ
T 20% 36 TTH T o1 | A FohT e SEeh T T ? |
A. 60,000%. ~ B. 72,000%.

JV'?SOOO'E ' D. 80,000%.

Ishan purchased blke for Rs. 35,645 and spent Rs. 24,355 for purchasing
television of the remammg amount he had 20% in cash. What was t‘otal amount

'~ hehad? | Lk ol £
; +s
X A. Rs. 60,000 B. Rs. 72,000 ’;%MKR
© C. Rs.75,000 ‘ D. Rs. 80,000 _ = {
J ¢ : e . % AL ?SO'UG..
68. @qﬁmmumn‘?zé,wﬁaﬁw&fﬁwm v ;ﬁ
| ,c/760m D. 1840m | " —
The area of circle is 24.64 m2. The circumference of the circle is 7Y ""?_’_“_‘ﬁy
A 1464m B.  1636m 2 “i;j 5
C. .17.60m D. 1840m | ’"f—;‘
69. 10 %3 3 5 FHRAT 6000 T. F @it Wt ¥ | A TH Fg B ST 7 450 ®.
2, A Teh SRl 1 A o Sre Qusy
A 370% B. 355% w“ | ;"3.?
C. 325% D. 300% ' "!g“‘\,,

U 10 sheep and 5 goats were brought for Rs. 6000. If the averge price of a shee
s Rs 450, fi nd out the average price of goat E

A. Rs.370 . B. - Rs, 355 . \27,
C. Rs.325 _ yyo B Rs. 300 : 2299
g P < -,,{:&/

Tl

Jen 5y = zm t°
23 g e gt
o Mo = Mf@y(;g ‘:7'10000 : 14/?’ —
iﬂf:wa;/.’

RDPS15 . A@, 14 | 3 q_rz%q, \
& SRS TS = ax form24
o8 \\%\i;
N £ Y 3‘3
¥ e T
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70.

What is the difference of profit between two ? ' 2geFRO. S* piqximm;aw
A. Rs. 1,192 B. Rs.1,507 anp
C.. Rs. 1,856 D. Rs. 1,928
71. 800 %. =t TR WTeRer =4t W 3 79 # 920 %. € e B | I A A @ H ;éaﬁr :},:"b )
g E
Ire Bt it T ot gt st 27 VIV w0
A. 1,000 B. 992 fird }f{
C. %942 D. %900 /,5;
A sum of Rs. 800 amounts to Rs. 920 in 3 years at simple interest. If the _ %\4\
mterest rate is increased by 3%, how much could it amount to ? : FBS?Pr’g .-
A. 'Rs 1,000 . Rs. 992 | }‘f»
o
C. .Rs.942 B Rs900 g i %,.
72. A @Wﬁloﬁﬂﬁw%am‘wwﬁmaﬁ15ﬁ=hﬁm%la‘t=ﬁ |
frea g M e A A w1 ? ,|:+,L ) 290y ss:«'&
A. 5faid B. Gﬁﬁfﬁ (x-H*D ’E}” ¢ "R
c. sfdid D. 10RA# ELNC - E
‘A’ does a workin 10 days and ‘B’ does the same work in 15 days. In how J’7:+
many days they together will do the same-work ? W o, gS ?
A. 5days _ 6 days - | Mfé‘ 255
C. 8days - D. 10days . ‘ : : \'ﬁ”_ .
0
73 TS O1E 200 HiU i g 24 FHvE B T HAT R | 3wk 7 7 %ﬂ/c.ﬂ.o
A. 20%‘1"[/‘5121 B : 24%/“ g '}4';‘9'9-000
C. 28.5fEf/E B30 T ot % 2
An athlete runs 200 meters race in 24 seconds. His speed is %%” g A 'L_q?v"' % H
A. 20 km/hr . B. 24k . %,;;\
C. 28.5km/hr Z' 0 kmv/hr % = i
\40 m/ (?\ Q’L 45\'\\ \L% % 0 M (;;}/}
RDPS15 g' — 15 W\' ) [P.T.0ON4mY, 5%
M e B V0 TRe
e - " T

T 4 38,000 TR SATYR & FT | 5 H1E A& W T 55,000 1 Gt wmieht
I5H A A TR | 9 & e T 22 ooowmgmlrﬁﬂmw%mﬂ%
HE T e ST R 7

A f1192 B. ¥1,507

e 856" D. 1,928
Ramesh started busmess by investing Rs. 38,000. After 5 months Shyam joined

Ramesh by investing Rs. 55,000. At the end of year their profit is Rs. 22,000.
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74, fe o T oA forsh I SR 4:5 @ Y A1 St < g ?
A 10% B. 20%
C. 30% - D. 25%

The ratio of the cost price and the selling price is 4:5, then what is the profit
elm =} 1), =Sf= oyl
5 5 v k{*’l Al

-—
- —

percentage? |
A. 10% B. 20% Y
Lyt

C. 30% "D, 25% S s

75 qaaniaﬂm@ 15 et 3i =er 12 Hiex 3 | 3@d 125 = wfy Fidie Fi

w3 Frear 61 T AT ST ?
"‘_A, 322,500 B. 20,500
T SCoq T22,050 D. 20,050

The length of a room is 15 m and width is 12 m. What is the cost of laying

floor atthe rate of ¥ 125 per sq. metre. 3
_ <~ Rs. 22,500 B. Rs. 20,500 A
i 23
_.‘.'_ . Ea C. Rs.22,050 : D. Rs. 20,050 %,”E
Section-IV \\'Lﬁl;’ﬁ
; GENERAL KNOWLEDGE 35500
: 76,  TeTeRel SR Uoh W ST % W1 % 9 H ohel HEATOA AT T
Tt LA 26501948 B. 187 1948
C. 15 331 1948 D 171966 |
Himachal Pradesh was constituted as a'Chief Commissioners province on
o A ~76" January 1948 B. 18" March 1948
Bt CtiAs™April 1948 D. 1% November 1966 -
77, 11 9, 1954 femmere wewr  forera o weet fermagy o,
‘ LM AL g TS A’ T B YU @IS ‘B’ U
(rlC, g e O T D. YU @IS D’ T
\ _I - “Before merger with Himachal Pradesh on July 1,1954 Bilaspur was a
% AL Separate Part ‘A’ State B. Separate Part ‘B’ State
' ;P' " C.: Separate Part ‘C’ State D. Separate Part ‘D’ State
\ i
/4y-{ RDPSIS Ay 7 ’_ d 16
hey. gy - =0 i
£, ,'\:i{.:f l 2 nd AN
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78, Trfaied -l 4 & 0 @ o, raw sem formsm ) o S g ?
A ==, TE @ e
B. &, 99 & 398
C. HdaS, ™ Ug UE]
D. ¥aas, U6l W6 3y

Which of the following group of rivers originates from the Himachal

Mountain?
/s./_B:ans, Ravi and Chenab

B. Ravi, Chenab and Jhelum
C. Sutlej, Beas and Ravi
D. Sutlej, Ravi and Jhelum

79. e waw & wa- R it 9 st s

A. 10,000 MW
B. 12,700 MW
C. 16,000 MWV

zD/‘{Un_.ooo MW
Estimated potential of Hydro-Electric Power of Himachal Pradesh is
A. 10,000 MW |
B. 12.700 MW

C. 000 MWV

)./23,000 MW

80, TRT WIRTEY G el W @R ?
A, NI
B. Rmen
C. SRR TR
D. TRAWR
Revenue Training Institute is located at
A. Dharamsala
B. Shimla
Joginder Nagar

D. Sunder Nagar

RDPS15 17 [P.T.O.
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A. 9EdTAT
B. Tl
C. TsH
D.. dmwEe
“Nawala” is a festival of the " tribe
A. Pangwalas

B Gaddi

C.  Gujjar
D. Lahaulas

82. =nfea femmeret AR R | “UreT A mtﬂém‘r% ?

A Fegfmd
B. fmen forat
C. R e i e 4
D. = o #

Valleys are unportant feature of Hnnachal “Pattan Valley” is found in
A. Kullu district
B. Shimla district
_C” Lahaul and Spiti district
D. Chamba district .

83. ‘g W ¥ o W1 O wiftrg Aok A ® 7
A, Rmerer
ﬁ/ HITST 1
}/ Tt =
D. fr=m _
" “Burah’ is a famous group dance of which district?
A. Shimla district
Kangra district
C7 Sirmaur district
D. Kinnaur district

RDPSIS . . 18
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84 TR s e e o 87
A. i ot |
B. ek ot dl
C. = ot o
D. g fet ¥ |
“Khir Ganga” — Hot water spring is located at
A.  Kangra district '
B. - Kinnaur district
C. Chamba district

: / Kullu district

85. | waﬁa:[ aﬂ-{“wﬁﬁ”amm%

A. ZRLEH
B. 3l
C. Yighel & Fall i
ST |
“Kufri Jeevan” and “Kufri Jyoti” are the two famous varieties of
A.  Tomato '
" B. Grapes
C. Hops
Potatoes
g6. 1999 i HIUfE FTRY o R * THeA T o HQ T fenraeh af
A TTE sigT e _
B, TEPerA € FAT |
C. TawER 3Tegd THIG
p. e w0 e
During the Kargil operation in 1999 whlch Himachali soldier is recipient of
«param Veer Chakra”
A Naik Jadunath Singh
B~ Rifleman Sanjay Kumar
. Havaldar Abul Hamid
D. L/NKaram Singh
> A [P.T.O.
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87.

88.

89.

-90.

91.

RDPS15

T e A e e frere 817

A. FHam B. diel

C. dreA D. g e&rm

“Chandra” and “Bhaga” rivers meets at the place ?

A. Kelang <~ Tandi

C. Pattan ' - D. Suhaga

R AR T E e ?

A.. fafem B. femma wew

C. RUTHS ol D. SH-HTHR

‘Kye Monastery’ is located in which state?

A. Sikkim ' Wchal Pradesh
C. Arunachal Pradesh D, Jammu and Kashmir
‘qerdl e F A @ W wfrg o ?

A, duEEE B. 37ogd TR @H

C. ST IR D. et T Shaen

Who was known as “Pahari Gandhi”?

A_ Pt. Padam Dev B. Abdul Ghaffar Khan

' ,,Vd Baba Kanshi Ram D. Devi Ram Kewla

fenreret wowT § adHH # fohe WeTEfeS §9rE ?
A 12 'B. 3

C. 4 D. 7

Number of Administrative Divisions present in the Himachal Pradesh
A 12 B. 3

9 4 D. 7

‘o i’ et fefer T @

A, SRR EAH B. TSI®WH

c. AdimeiifiTgmasHE D, I 4 IS
“Money, Bill” is introduced in

Lok Sabha ) B. Rajya Sabha
C. Joint sitting of both the Houses ~ D. None of the above

- 20
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92.

Taraent sr=ien’ 1 A et 7o wiker @i o ?
A. T T B. e ¥
C. e D. IR H F
The village woman who led the ‘Chipko movement’ was
A. Bachhendri Pal B. “Sarla Devi
L(/Gaura Devi D. None of above
93. SFwwy ruuadTag? .
Yy T B. fae
C. YFhams J},ﬂ%ﬁqéﬁﬁ;
“Davis Cup” is associated with the game of
A. Hockey B. Cricket
C. Boxing Mawn Tennis
94. ‘. qun “dig’ @
A. = H IR S 9 et
B fove '
C. =9 H gasR &I Afa sfemn 6 wrefra
D. 39 | 1S el 14
“P.K.” and “PIKU” are
A. Pandas found in China
. ,,B/ Feature films
C. Girls from Haryana who alleged misbehaved in bus
D. None of above '
95,  ¥Rd GLHR ST I Ush AT “wftg feraehl aeg & Rmu 2 7
A. e Selt sl o fore |
B. had WTEH HEFAIAT & ToTT
C. ad Afgensti & fag
D. ad aiE Trie! & foru
“Swayamsiddha” is a scheme launched by the Government of India to help
A. School children only
B. Health workers only
' \%’Women only
. Senior citizens only
RDPS1S' | 21 [P.T.O.
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96. ‘fo’ wH AR 3T § -
A. TR B. wfaige &
c. wifea afoar s D. 37 ST &1
“Chip’ is a common nick name for a (n)
A. _transistor | B: resistor
integrated circuit D. semiconductor
97. WA~ fareer Wit 1972 el WO gan o1 ?
A, TS HR B. zfk
C. digedisms D. Y&
Where was Indo-Pak Shimla agreement 1972 concluded ?
\/ﬁames court B. The Retreat
Boileauganj ~ D. Peterhoff
98. M W1 Yoo AT N 76 A8 3 g Frwd 3R ?
A Eemw B. ¥
C. SHRS - D.  UewH g2
Which comet appears every 76 years?
A. Holme’s B Halley’s
C. Donati’s I} Alpha centauri
99. ‘TIHMHAT T SR 7, S w=fRh R
A EE ~ B. ufw=d
C. wHsid D. E1#®
“Leukemia” is a disease related to .
A. Eyes _B. Brain
C.- Lungs }/Blood
100. H&TUT A.T.M. %1 U AT &
A. @A ea wEi B, WM 3 HYiA
C. MW D. UsaW deduyH
Full version of an abbreviation A.T.M.
A. - Auto Total Machine B. Action Taken Machine
Automated Teller Machine D." Advance Total Machine
/ .
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